Max Hex








Turns @ 








000000C0 - 0100 0000 0000 0000 FF03 0000 0300 0000 = 1023 turn  


000000C0 - 0100 0000 0000 0000 0100 0000 0300 0000 = 1





1023 ergibt sich aus





000000C0 - 0100 0000 0000 0000 FF03 0000 0300 0000 = 1023 turn  


FF = 255


03 = 3 * 256


01 = 256 ( 256 * 1 )





Hex FF    +   03        = 1023 


        255  +   3 * 256 = 1023





  


Playmode@





000000C0 - 0000 0000 0000 0000 0100 0000 0300 0000 = Turn based


000000C0 - 0100 0000 0000 0000 0100 0000 0300 0000 = Simultanous moves





Turn time@





000000A0 - 0008 0508 0800 B97D D23E 053C 0000 0001 = Turn time 60





Hex 5C = 60





000000A0 - 0008 0508 0800 B97D D23E 0568 0100 0001 = Turn time 360





Hex 68 = 104 Hex 01 = 256 (256 * 1 )


Hex 68    +   01       = Turn time 360


       104 +  1 * 256 = Turn time 360





End turn time





000000A0 - 0008 0508 0800 B97D D23E 0568 013C 00 01 = End turn time 60


Hex 3C = 60 


Hex 00 = 0 * 256








